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OAUN=2 HY
9,600,000, 000& *1.5/100 144,000
OXNZLHA =M 4,000,000,00081.5/100 60,000
OZAl HH2d = =4
3,000,000, 0008 *1.5/100 45,000
O&H4s FOIHEH HE
4,000,000, 000&%1.5/100 60,000
601 Xt = 24kE 8,119,500 11,252,500 A3,133,000
01 Al - 2 - XYL SXL2SAS4HE 1,972,000 8,300,000 6,328,000




A JI= oA
M THRES(JI20 A
el BEXXIS(O1= 04 (CH9: /M)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OL-SAACHT U Z=8 2K THMAL!
5,000,000,000&*1/10 500,000
OSNZ(SEMYLS-S4HIIW)
4,000,000,000&*1/10 400,000
SRUZ(s4=2)28sd =4
2,000,000,000&*1/10 200,000
Odteln ot 2,400,000,000&*1/10 240,000
OM=2E-413eI2t S2ME
3,000,000,000&*1/10 300,000
OHFERDURSHE EHA
320,000,000&*1/10 32,000
OL-F A THE AL (HITAREE THASAL)
3,000,000,000&*1/10 300,000
2 SsEaSI AL S 4E 547,500 2,602,500 A2,055,000
Q2HH =HEZHL A 52,500,000 52,500
O&&EIIL EH Y MOtE
3,000,000,000&*1/10 300,000
O=sE0tE SZMEASE 50,000,000 50,000
OLEFRA-DSEHOIZY CREE
45,000,000 45,000
ogRcaT=2H4
1,000,000,000&*1/10 100,000
05 JIEt=U XL 2 A3 &S 5,600,000 350,000 5,250,000
OFARNF(BHME S) 150,000,000 150,000
OAMEEI |2 XS (22ET) 5,450,000
QX0 TAISE A=Al 0L
15,000,000,000&*1/8 1,875,000
QL UXS2 AHE 9,600,000,000&*1/8 1,200,000
OZ)|0IEY TAIHECZZ OHY
8,000,000,000&*1/8 1,000,000
O= s FRIMEH HE
4,000,000,000&*1/8 500,000
O LER =4 4,000, 000,000&*1/8 500,000
O AHIEZE = 24
3,000,000,000&*1/8 375,000




